A A (=5,1) B (3,5) 914 2 Aol Y y & 919] Mo Fx
?

rr

@ (0,0) @ (0,1) ® (0,3)
@ (0,4) ® (0,-1)



2. AAEAQ,3),B(2 2),C3, 1)E HAHPLZE 5= AABC 2] £
F4H0] G (a, b)olth. a+ b2 327

O -4 @ -2 ® 2 @ 4 ® 0



3. WA o204 dy+ 1=00] dehe 39 49 HuS
Cla,b), BAIE2] POl r ot Tl at b+ r 9 FH7

O -2 @ -1 ® 0 @ 1 ® 2



Fhols (x, y) = (x+a, y+4) ol &5t A2, 1)l A (1, b) =
SAXA W, a+ b 9 FH2?

@® -3 @ -1 ® 2 @ 4 ® 5



A A(-1,2)= A4 y = xofl tiste] diAols
ZHEE ST

@ B(1,2) @ B(1,-2)

@ B(2,-1) ® B(-2,1)



Ty

A 3

ro ool

D 45°

|

0

b2

—x+ 39 e}«

@ 60°

Z9] o<

@ 120°

@ 135°

® 150°



F A +y+5=0, 3x-2y+4=02 ¥¥7} (1, 5)E A=

@® 2x-y+3=0 @ x+y-6=0
@ 4x-y+1=0 @ x+2y-11=0

® 3x-2y+7=0






A (k —2) o] HE4 22 42 <0 9] G
H579] A7

rO

of gl k o H gkt

@D 2 @ 23 ® 245 @ 5 ® 6



10. F54 3x+4y > 10 & T3k x, y ofl thste] x2 ) o] 25327

@ 4 @ 5 @ 8 @ 10 ® 20



11.

ax-6y-2=0,2x-(2a-5)y-1=0% o,
5 A1g FA THIHE (x, y) 7t SHHE QLS S a9 322D,
a>0)

® 2 @ 3 ® 4 @ 5 ® 6



12. T 94 (y-3)? =4, (x—4)? +)? = n? o] HZ F&F oA
THES SHe 24915 0 0] A4

@ 174 @ 274 @ 37 @ 47 ® 57



13.

Hx24+y?-2x-1=08 &
o] Yol & F5tH?

@ @ n

NN

® or

ZHAAL x4y +1 =0 Hshe

@ 3r ® 4rx






15.

Ay = x4k 7h A 62 42 = 16 3 WA 7] @] Polvt 246
), 4k o G2

@ 2 @ 23 ® 25 @ 33 ® 35



